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(a) An example network. (b)  The augmented route tree for OOC control.

(c) The augmented route tree for SOC control. (d) The augmented route tree for crankback control.
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(a) A 5-node fully connected network. (b) OOC routing tree.
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(c) SOC/Crankback routing tree.
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C=200, µc=0.001
Simulation vs Analysis

(a) Call Blocking Probability
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C=200, µc=0.001
Simulation vs Analysis
(b) Call Set-up Delay
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(a) An  8-node hypercube network. (b)  OOC routing tree.

(c) SOC/Crankback routing tree.
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C=200, µc=0.001
Sequential Rules

Simulation vs Analysis
(a) Call Blocking Probability
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Simulation vs Analysis
(b) Call Set-up Delay
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Parallel Rules

Simulation vs Analysis
(c) Call Blocking Probability
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Parallel Rules

Simulation vs Analysis
(d) Call Set-up Delay
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C=200, µc=0.001, Dp=0
Simulation vs Analysis

(a) Call Blocking Probability
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(b) Call Set-up Delay
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C=200, µc=0.001, Dp=0.2
OOC vs SOC/Crankback

(a) Call Blocking Probability
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(b) Call Set-up Delay
Accepted Call Throughput
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Comparison of 5 rules
(a) Call Set-up Delay

Accepted Call Throughput
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(b) Call Set-up Delay
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Comparison of 5 rules
(c) Call Set-up Delay
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Comparison of 5 rules
(d) Call Set-up Delay
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(a) Call Set-up Delay
Accepted Call Throughput
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(b) Call Set-up Delay
Accepted Call Throughput
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(a) Call Set-up Delay
Accepted Call Throughput
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(b) Call Set-up Delay
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(c) Call Set-up Delay
Accepted Call Throughput
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(d) Call Set-up Delay
Accepted Call Throughput
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(e) Call Set-up Delay
Accepted Call Throughput
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C=200, µc=0.001, Dp=0.2
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(f) Call Set-up Delay
Accepted Call Throughput
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(g) Call Set-up Delay
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